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= 165,000& *1H x 128 1,980
= 155,000& 2 x 128 3,720
OAIZEEE I DA 13,860
g2ad(2t3) 144, 3703 +8Y * 128 13,860
M4 HASEE2S 16,696 16,622 74
M ZB2R2X(RIH 22X BEE2EEHZ S 16,696 4,086 12,610
OBRAZZX =20IHZ AISIRES 6,683
OFAIEH| =012
29,557,000& *4 . 5% 1,331
ouz, =8, s& w03
118,929,000& 4 . 5% 5,352
ORISR ALY MBNRELD 5,927
OHAZY 22
29,557 ,000& *3.545%2 1,048
OFANEH EIAZE
1,014,000& *12.27% 125
ouZ, =3, S8 AL
118,929, 000& *3.545% 4. 217
O, =3, g &)|ILES
4,371,000 %12.27% 537
OBSHIRN NEFE AENRL 4,086
OHAIZH D828
29,557 ,000& *1.75% 518
OFAEH| A2 E 29,557,000 * 1% 2%
oz, =38, S8 1828
118,929,000 *1.75% 2,082
oz, =3, & MEE
118,929, 000& * 1% 1,190
|20l 115,097 116,417 A1,320
J|I2& bl 115,097 116,417 N1,320
201 LEtEHH| 58,617 60,537 1,920
01 AtR2t2lbl 54,720 56,640 A 1,920
Obt+=ZH| 40,780
ORA2d94-24|
(25,000 12+ 122 )+0.8 2,880
OzetmelE) E3RY
240,000 *8H 1,920
OEUHRYU(ZRIE , 2AID|, 2AESED])
200,000 %1004 2,000
Ogag F32372e L NEH|
(100,000 *122)+(30,000& *43] ) 220
Oul=&2txl 20,0003 x2E5x 128 480
OSIEBN(ANEAH=E)
200,000 *x2= 400
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=2
RN - I BRA(E) - HRA - BES of v A
OH=H4 2| 35 100,000& x4Z 400
Otl2+=H| 20,0008 x25+122 480
Os2 % 0iIgHl 32,000,000 *1 32,000
o=2g+d 10,100
O =5|(£. 2 )
60,00021%12#1172 7,020
OUEsNe SANSARS A4 2o
70,0003 112 +43] 3,080
©=E ] 3,840
OS2s4l| 8,000 x8E+54!x 123 3,840
02 S5=g4l 3,897
0882= € HA 1,225
OXS A 115
- AEEE 50,0003 »1CH 50
= 65,0002 1CH 65
OXsxt 2= (MY, el S, X&) 850
- B8al= 450,000 *1CH 450
- SESE 400,000 = 1CH 400
OXsxtetBINEFE=
70,0003 »1CH*22] 140
OXSxt SEHA 60,0003 » 1CH*22] 120
O+t Et] 2,672
Odg=t= 1,340,0002 x1CH+0.8 1,072
Osgs8 2,000,000 «1CH*0.8 1,600
202 044l 49,680
01 =LH LI 49,680
OJ=ZRFLTOHI(LIIM =&)
80,0002 x20EH « 12 43,200
O3RAZ=2Tt 0|
20,0002 02| x3&* 12 6,480
203 2= 5,000
02 32 JRHH 2= 800
OFAINIH R 40,0003 »20H 800
M EASHLRFAH 4,200
ORAMZ2EER=2A] 350,000+ 122 4,200
204 MR FH| 1,800
01 Mg R3] 1,800
OXMHZ AR A 1,800
O55 150,000 x1&* 122 1,800
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